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1) a) Show that the equation |x —1|+(y —3)3 =1 defines a function.
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2) Let f(x )—[[2x—1]]+2 2 (
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b) Find the set of x such that f (x)=0
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3) Find the domain of f(x)=
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4) A linear function has y-intercept at(0,~2) and its x-intercept at (—4,0). Find the equation

of the function. (you can use the graph)
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5) If5 is the maximum of f(x) =—x’ +2mx+1. Find the values of m.
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6) a) Draw the graph of f(x)= (x—l)z—2 if —l<x<2
=1 if  2<x

b) Find its range, x-intercepts and y-intercept
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1) a) Determine if the equation |y —1|+(x— 3)3 =1 defines a function or not.
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2) Let f(x)=[3x-1]+2,

a) Evaluate [(-3.4) = [5@3 q) _ :“B& £ 2 = H, 0.2 — :D + 2
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b) Find the set of x such that f(x)=1
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4) A line L passes through (0,-2) and its perpendicular to line L, with equation
2x-4y-1=0. Find the equation of the function. (you can use the graph)
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5) If the minimum of f(x)=—x*+2mx+1 is reached at x=2. What is the minimum value of

the function
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3x-1 if x<-1

6) a) Draw the graph of f(x)= (;-1)2—1 if —-l<x<2
4 i 2<x

b) Find its range, x-intercepts and y-intercept




